

Bestäm den allmänna lösningen till

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

Svaret ska ges på reell form.

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$p(r) = r^4 - 2r^3 + r^2 + 2r - 2.$$

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$p(r) = r^4 - 2r^3 + r^2 + 2r - 2.$$

$$p(1) = 1^4 - 2 \cdot 1^3 + 1^2 + 2 \cdot 1 - 2 = 0,$$

så $r - 1$ är en faktor.

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$p(r) = r^4 - 2r^3 + r^2 + 2r - 2.$$

$$p(1) = 1^4 - 2 \cdot 1^3 + 1^2 + 2 \cdot 1 - 2 = 0,$$

så $r - 1$ är en faktor.

$$p(r) = (r - 1)(r^3 - r^2 + 2) = (r - 1)q(r).$$

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$p(r) = r^4 - 2r^3 + r^2 + 2r - 2.$$

$$p(1) = 1^4 - 2 \cdot 1^3 + 1^2 + 2 \cdot 1 - 2 = 0,$$

så $r - 1$ är en faktor.

$$p(r) = (r - 1)(r^3 - r^2 + 2) = (r - 1)q(r).$$

$$q(-1) = \dots = 0.$$

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$p(r) = r^4 - 2r^3 + r^2 + 2r - 2.$$

$$p(1) = 1^4 - 2 \cdot 1^3 + 1^2 + 2 \cdot 1 - 2 = 0,$$

så $r - 1$ är en faktor.

$$p(r) = (r - 1)(r^3 - r^2 + 2) = (r - 1)q(r).$$

$$q(-1) = \dots = 0.$$

$$p(r) = (r-1)(r+1)(r^2-2r+2)$$

$$y^{(4)} - 2y^{(3)} + y'' + 2y' - 2y = 0.$$

$$p(r) = r^4 - 2r^3 + r^2 + 2r - 2.$$

$$p(1) = 1^4 - 2 \cdot 1^3 + 1^2 + 2 \cdot 1 - 2 = 0,$$

så $r - 1$ är en faktor.

$$p(r) = (r - 1)(r^3 - r^2 + 2) = (r - 1)q(r).$$

$$q(-1) = \dots = 0.$$

$$p(r) = (r-1)(r+1)(r^2-2r+2) = \dots = (r-1)(r+1)(r-(1+i))(r-(1-i)).$$

$$p(r) = \dots = (r - 1)(r + 1)(r - (1 + i))(r - (1 - i)).$$

$$p(r) = \dots = (r - 1)(r + 1)(r - (1 + i))(r - (1 - i)).$$

$$(y = C_1 e^x + C_2 e^{-x} + D_3 e^{(1+i)x} + D_4 e^{(1-i)x}.)$$

$$p(r) = \dots = (r - 1)(r + 1)(r - (1 + i))(r - (1 - i)).$$

$$(y = C_1 e^x + C_2 e^{-x} + D_3 e^{(1+i)x} + D_4 e^{(1-i)x}.)$$

$$y = C_1 e^x + C_2 e^{-x} + C_3 e^x \cos x + C_4 e^x \sin x.$$

Svar: $y = C_1 e^x + C_2 e^{-x} + C_3 e^x \cos x + C_4 e^x \sin x.$

$$e^{a+ib} = e^a(\cos b + i \sin b).$$

$$e^{a+ib} = e^a(\cos b + i \sin b).$$

$$\begin{aligned} & D_3 e^{(1+i)x} + D_4 e^{(1-i)x} \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos(-x) + i \sin(-x)) \end{aligned}$$

$$e^{a+ib} = e^a(\cos b + i \sin b).$$

$$\begin{aligned} & D_3 e^{(1+i)x} + D_4 e^{(1-i)x} \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos(-x) + i \sin(-x)) \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos x - i \sin x) \end{aligned}$$

$$e^{a+ib} = e^a(\cos b + i \sin b).$$

$$\begin{aligned} & D_3 e^{(1+i)x} + D_4 e^{(1-i)x} \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos(-x) + i \sin(-x)) \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos x - i \sin x) \\ &= (D_3 + D_4) e^x \cos x + (iD_3 - iD_4) e^x \sin x \end{aligned}$$

$$e^{a+ib} = e^a(\cos b + i \sin b).$$

$$\begin{aligned} & D_3 e^{(1+i)x} + D_4 e^{(1-i)x} \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos(-x) + i \sin(-x)) \\ &= D_3 e^x (\cos x + i \sin x) + D_4 e^x (\cos x - i \sin x) \\ &= (D_3 + D_4) e^x \cos x + (iD_3 - iD_4) e^x \sin x \\ &= C_3 e^x \cos x + C_4 e^x \sin x. \end{aligned}$$